Calendrier 2025 du cercle Qc.1

A

(%]
- 4]
. A..@._
o S 3
N ‘L
-© o
's] 4
S|l == > aj| - SEl-o|>|lv|ia|lal=l=|-o>lv]ala|l=|=]l»D|>lv]ialal=]=
0 0
(N[ x| ~ | SIS I 2[E[2)|2[RS|V[RI|R[L|R|R[Q]|R ]~
-
.
o
nlala|l=|= > wn Jdl=l=l0>lvlalagl=s=lI=Elo]>lvwal2l=lI=lDl>lwvw]a
0 0
(N[ x| ~ | SIS I8 |2[S|2|2[R|J|N[R|I|R[2|R|R[Q]R
g
= T
. —_
O 9
o g
8]
<T
=E|-|>|lw]|oe =| = S>Slvn|lala|=l=]-l>|lvialal=l=l»>lv]ialal=l=D0]>
o N | e nlol~N[oo|o]|o N[ n|fol~NlTolo o
— | N|m || N~ | e SIS 2|3I|2| 22| RISINIRINIRIRIRIRIQ[R]=
-
= .
9]
= o
S @ o
= [~
J == > aj| - SElo|>|lvilalal=l=l-o>lvial2|l=l=]l>l>lvialal=
o N | nlol~N[oo|o]|o INE n|fol~Nlo|lo o
— | N|m || N~ | e IS 213I2|2|E5[R|2IRISINIRIN|ILILIRIZIQ]S
>S|lwnlalag] = | > Al | ==l >|lv]ialag|l=l=l-]>lvial2]|l=|l=1>l>lvw|a
o N | e nlol~N[oo|o]|o N[ Nn|fol~Nlo|lo o
— | N|m | T |0 N~ | e SIS 2|3I 22522 RISINIRINIRIRIRIRIQ[R]=
©
o
]
c
<
O
E|=|-|>|w - | = SlI>|lvnljlalalsls|>l>|lv]iala|l=|l=l>|>lvnialal=sl=]»
o N | nlol~[oo|o|oS NE NnN|o Nl o
| N[ || N~ | e IS 2|3I2|2S2 |2 RISINIRIN|IRILIRIRIQ[R]=
8]
(e
s 3
(=} 9]
O i
aljla|l=l=|- w | a SEl=|-l>|lv]aldl=l=lo]>lvial2]|l=l=l>l>lvwiala
o N | n|lol~[oo|o]|oS NE e N|[ol~Nlo|o o
| N[ || N~ | e IS 2132|2|5[(R2IRISINIRIJI|ILILIRIZII]S
(%)
[0} A
=z o
2 (8]
j .
= o
o
=S| >|lwvw|lal - =| - nljlala)l=l=l-l>lvialal=l=l-l>lvial=2]l=l=Elo>]wvw
o N | n|lol~[o|o|o NE e NnN|ol~Nlo|o o
| N[ || N~ | e IS 2|3I|2| 2522 RISINIRIN|IRILIRIRIQ[R]=
- " -
o o
8] g )
o ) o
o
SE|l=l-l>|w | = Sl>|lvn]ja|la|l=l=l-o>|lv]ialal=|l=l-o]>|lvwalal=|=
N | n|[o|~][o ]| o NN NnN|[o|~[]o]|o
— ||| ¥ |0 N~ | IS 213|2]|C|5[(R|2IRISINISIN|ILILIRIZIQS
7] -
< o
g
$
Q
[4
nlalal=]= >|wv dl=l1=l-o>lvlalal=l=l>l>|lv]iala|l=sl=]l>]l>|lvw]al-
N | n|[o|~][o]|o NE e N[Ol ~[]o]|o
| N|m || N~ | IS |93 S2|2R|ISINIRIN|ILIRIRIR[IQ[R]=
-
.
o
nlalal=|= >|wv al=s=l=l-l>lwvlalals|l=l-l>|lv]ialal=l=|-]|>
N | n|[o|~][o]|o NE e Nn|o|~[wo
| N|m | ¥ |0 N~ | (Y2322 2IRISINIKIN|ILILINIR
c
la =
= o
(] O
o
2 o
5
=E|->1>|wvw]a == Slun|lala|l=l=l-ol>lvialdl=l=l>>lvial2|l=l=»-|>
N | n|o|~][o|o NE e Nn|[o|~[]o|o
| N ¥ |0 N~ | o =923 =2 |2 RISINIRIN|IRIRIRIR[IQ[R]=




